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BRREOE— 8 2,260 1,810 450 1,700 560
FEIBREREOE A 1,850 1,480 370 1,390 460
FEIBREREAE 1,850 1,480 370 1,390 460 )
EBEEREOE= 1,440 1,150 290 1,080 360
IR ERERAE O 2,160 1,730 430 1,620 540 1,800
W EERIL O 1 RE 2,770 2,220 550 2,080 690 2100
e kBRI O 2/ 2,570 2,060 510 1,930 640
w EERFO 2,770 2,220 550 2,080 690 2,493
75 BRER P O #h B 2,570 2,060 510 1,930 640
FREERAE O 1FE 2,570 2,060 510 1,930 640 2,300
JERERFE O 208 2,360 1,890 470 1,770 590
TBREREO1E 2,880 2,300 580 2,160 720
BEREREO 20 2,570 2,060 510 1,930 640 2,358
T RERR O30 2,260 1,810 450 1,700 560




s 5 H B (/1)

BEH 4-—2

. — 21513220% B151325% REFEYERD

S U7R) | s | @i | x4 | @EBIE 1
b EEREOE A - - - - —
JEIEBRER R O — A - - - - -
EBERROEZ 3,080 2,460 620 2,310 770 i
EBRREOE= 2,460 1,970 490 1,850 610
JIBEERTO 3,240 2,590 650 2,430 810 2,900
we b BRAE O 1 B 4,320 3,460 860 3,240 1,080 2333
e _EBRAL O 2f - - - - -
e _EEREE O 4,320 3,460 860 3,240 1,080 4,000
78 BLERTE O MO B 4,110 3,290 820 3,080 1,030
JEBERTE O 1R - — — — — 3,520
JBBERFE O 2 - - - - -
TBEERE O 10 4,320 3,460 860 3,240 1,080
TERERE O 2R - - - - - © 3,500
TR BB O 30 - - - - -




